AA2 wk10 Mon Collab Day
REVIEW C

1. Write the equation of a line
perpendicularto y = %x + 4 passing

through (-3,5)

2. Find the 41° term of the sequence
3,7,11,15 use one of your formulas,
show the work.

3. Y*_,(3n — 2) use your formulas to

simplify.

4+i
3-21

4. Simplify
Simplify (9 — 2i)?
Solve |2x — 1| = 3

Solve 2 < |x — 3|

0 N o W

Solve |2x — 1|+ 2 <7

4x+2y

5r

9. Solve fory:

2x3y—5 -3

. . z
10.S|mpI|fy(W)
11.f(x) = 4 — x?

g(x) =x+3 Findf°g

-1 35
12.Evaluate: | 2 —2 7
3 1 2

13.Solve by completing the square:
a) x2—-10x+2=0
b) 2y?+8y—3=0
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Review C
1. Write the equation of a line
. 2
perpendicularto y = 3 + 4

passing through (-3,5)

2. Find the 41° term of the sequence
3,7,11,15 use one of your
formulas, show the work.

3. Y*_,(3n — 2) use your formulas

to simplify.

4+i
3-21

4. Simplify
Simplify (9 — 2i)?
Solve |2x — 1| = 3

Solve 2 < |x — 3|

0 N o W

Solve |2x — 1|+ 2 <7

4x+2y

5r

9. Solve fory:

2x3y—5 -3

10.5implify(3rs)
11.f (x) = 4 — x
g(x) =x+3 Findf°g

-1 35
12.Evaluate: | 2 —2 7
3 1 2

13.Solve by completing the square:
14.x*2—10x+2=0
15.2y2 +8y—-3=0
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Answers:

W N UL A WN P

y—5="(x+3)
163
22

10+11i
13
77-36i
x=-1,2
x>50rx<1
-2<x<3
__15rz—4x
o 2

27273
" 8x21y”

11.—x?> —6x —5
12.102
13.a)x =5++23

bly = —2+ 2
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